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Paper — I
Note : ® This paper contains Sixty (60) multiple-choice questions, each question carrying two (2) marks.
e (Candidate is expected to answer any Fifty (50) questions.
¢ In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will be
evaluated.

1.  The principal of a school conducts an interview session of teachers and students with a
view to explore the possibility of their enhanced participation in school programmes. This
endeavour may be related to which type of research ?

(1) Evaluation Research (2) Fundamental Research
(3) Action Research (4) Applied Research

2.  In doing action research what is the usual sequence of steps ?
(1) Reflect, observe, plan, act (2) Plan, act, observe, reflect
(3) Plan, reflect, observe, act (4)  Act, observe, plan, reflect

3. Which sequence of research steps is logical in the list given below ?

(1) Problem formulation, Analysis, Development of Research design, Hypothesis
making, Collection of data, Arriving at generalizations and conclusions.

(2) Development of Research design, Hypothesis making, Problem formulation, Data
analysis, Arriving at conclusions and data collection.

(3) Problem formulation, Hypothesis making, Development of a Research design,
Collection of data, Data analysis and formulation of generalizations and conclusions.

(4) Problem formulation, Deciding about the sample and data collection tools,
Formulation of hypothesis, Collection and interpretation of research evidence.

4. Below are given two sets — research methods (Set-I) and data collection tools (Set-II).
Match the two sets and indicate your answer by selecting the correct code :

Set -1 { - Set — 11
(Research Methods) o Pl (Data Collection Tools)

a.  Experimental method Jy i. Using primary and secondary sources
b.  Ex post-facto method ii.  Questionnaire
c.  Descriptive survey method iii.  Standardized tests
d.  Historical method . iv.  Typical characteristic tests
Codes :

a b c d
(1) ii i i v
2) i v il i

3 1 i i iv
4 i v i i
S.  The issue of ‘research ethics’ may be considered pertinent at which stage of research ?
(1) At the stage of problem formulation and its definition
(2) At the stage of defining the population of research

(3) At the stage of data collection and interpretation
(4) At the stage of reporting the findings.

6.  In which of the following, reporting format is formally prescribed ?

(1) Doctoral level thesis (2) Conference of researchers
(3) Workshops and seminars (4) Symposia
W-00 2
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o TU YT H WS (60) Tgiashedd U9 &, T U9 % &l (2) 3H & |

o 5T 4 SHigaR o fordt ff w=m (50) 991 & ST ¢ |

o IHIEAN TR U= (50) ¥ 3fyeh Y1 ol IR 3 W SHEaR 51T €8 T v u=rm (50)
T BT Hodieh AT ST |

Tt fommera =1 o foenera o wEsRAl § et dem S % wfaum @ AfMgE S @

GRIEHT T Il T o ToTT Sk |1 TR | ST el & | I8 UaT 3Tae & foha

TehRT § et € 2

(1) e Sgaem (2) e ST

(3) o SFTwHT (4) oHERT STHHH

TohaTeHer STTHU SR T QAT b1 AT SThH T el & 2

(1)  Tormet, geyor, giern faor, fraraaa (2) 3w, fsharerm, teror, fomet

(3) T T, fams, ver, feareaa (4)  TeRaraae, vegor, gt fmtor, feet

f=ifepd & SFTHET =ROT T i 9T SHH I & ?

(1) TO= e, fOveuor, Iy ANehed o [, UReeUT I, S USRI,
rreROT 3R FreRd o

(2) Y AHT H g, TRHeaT AT, THE =, Uew faveyor, feRy e, vew

(3) TUET TUE, URSheTAT AT, INY T T [, ST USHSIHON, UG [aveiuT,
HTATIERIOT T TRy T

(4) TUET T, Hfagel q9r USH THHIe0T SUSROT o o) § 019 o, aiehean faior, oy
e T Gohor Ud (Haa

T 31 gy U T € ;o qEy fafudt (TgeeE — 1) 99T e Hehe SUshOT (FH=ed — II) |
AT T T THET Y T Tel 3T A 9hT Y |

T - 1 42 wopeea - I
raaam fafa) ) (W& TeheT SUHI)
T fofer - i vmeTges 9 fgdia |dr s STAnT ST
FrRr fafa ii. AR .
feraroTTenes worer fafy iii. WEBHT W
gfceaTess (Ufaditass), fafy iv. fouiw stfirereror oRiemd

a b C d
)y dioi il v
) 11 v ii 1
3) 1 i 1 v
@4 1 iv il 1
gty AAferepar 1 fawg sy & forq T)oT § T HET ST € 2
(1) ST T 947 ST TR 3 TR0T §
(2) I % FEY & UROT % WO H
(3) URH-Geho YT faeda % RO H
(4) TI=FuT @ K U STH & =RoT |

FifRd o f7g UreT § Hidee urey sieniies w9 9 e g & 2
(1) T @E Wy (2)  IMEHAT BT THAT
(3) AT T Gt (4) O T

9£|:’l.° o
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Read the following passage carefully and answer questions from 7 to 12 :

The last great war, which nearly shook the foundations of the modern world, had little
impact on Indian literature beyond aggravating the popular revulsion against violence and
adding to the growing disillusionment with the ‘humane pretensions’ of the Western World.
This was eloquently voiced in Tagore’s later poems and his last testament, Crisis in Civilisation.
The Indian intelligentsia was in a state of moral dilemma. On the one hand, it could not help
sympathising with England’s dogged courage in the hour of peril, with the Russians fighting
with their backs to the wall against the ruthless Nazi hordes, and with China groaning under the
heel of Japanese militarism; on the other hand, their own country was practically under military
occupation of their own soil, and an Indian army under Subhas Bose was trying from the
opposite camp to liberate their country. No creative impulse could issue from such confusion of
loyalties. One would imagine that the achievement of Indian independence in 1947, which came
in the wake of the Allies’ victory and was followed by the collapse of colonialism in the
neighbouring countries of South-East Asia, would have released an upsurge of creative energy.
No doubt it did, but unfortunately it was soon submerged in the great agony of partition, with its
inhuman slaughter of the innocents and the uprooting of millions of people from their homeland,
followed by the martyrdom of Mahatma Gandhi. These tragedies, along with Pakistan’s
invasion of Kashmir and its later atrocities in Bangladesh, did indeed provoke a poignant
writing, particularly in the languages of the regions most affected, Bengali, Hindi, Kashmiri,
Punjabi, Sindhi and Urdu. But poignant or passionate writing does not by itself make great
literature. What reserves of enthusiasm and confidence survived these disasters have been
mainly absorbed in the task of national reconstruction and economic development. Great
literature has always emerged out of chains of convulsions. Indian literature is richer today in
volume, range and variety than it ever was in the pastﬂ.{ _

Based on the passage answer the following questions from 7 to 12 :

7.  What was the impact of the last great war on Indian literature ?
(1) It had no impact.
(2) It aggravated popular revulsion against violence.
(3) It shook the foundations of literature.
(4) It offered eloquent support to the Western World.

8.  What did Tagore articulate in his last testament ?
(1) Offered support to Subhas Bose.
(2) Exposed the humane pretensions of the Western World.
(3) Expressed loyalty to England.
(4) Encouraged the liberation of countries.

9.  What was the stance of Indian intelligentsia during the period of great war ?
(1) Indifference to Russia’s plight.
(2) They favoured Japanese militarism.
(3) They prompted creativity out of confused loyalties.
(4) They expressed sympathy for England’s dogged courage.

10. Identify the factor responsible for the submergence of creative energy in Indian literature.
(1) Military occupation of one’s own soil.
(2) Resistance to colonial occupation.
(3) Great agony of partition.
(4) Victory of Allies.

11. What was the aftermath that survived tragedies in Kashmir and Bangladesh ?
(1)  Suspicion of other countries (2) Continuance of rivalry
(3) Menace of war (4) National reconstruction

12. The passage has the message that
(1) Disasters are inevitable.
(2)  Great literature emerges out of chains of convulsions.
(3) Indian literature does not have a marked landscape.
(4) Literature has no relation with war and independence.

W-00 4
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Fratafas Terw St amgEE ug T uv w7 /12 9% & 6% i

3| FErgg STa Mg fava ot TR i o faehiud &Y a1, TR Hifecd W W&o
T & ST T © | I8 AT & oy 3 T ¥ Sgel 5 i Ugrd a9l uivedr gEr B C’me
fomfeal o I | Aigw o feafd o weRar @ sifveafad 33 3 & fauer T | 3ae qaR st SR
AT Hadrsti Ta 3 AT FEwd R 3 fafaoeser & Ared 9 g8 | 39 99g 9Rd &
Frgster I Uk A g5 H 39 T oR @ A1 | Th 3 el 9¢ Fohe Hl Tgl H Toig & 3_H
TEd & i Ferdid = 6T aiR T8 1@ e, e w1 o fge Tt A= w9 @t o ® 9,
T, ST Bt HATST BT g2t ot AT ST TET T, TRl GO 3T ST ST & ST 370 &”ell bt o 9Ifery
% (90T | o1, YRAE T, G 919 P ged § SO 3T H 39 S BT HiokT 1 WA Y T A |
ferett & U8 55 H foRdt off TohR & IS U9 & Tpe i o Tel ot ST gl | I8 et &
AT o ST ehel & 7o 1947 H YRS i o= wiie st fr T’ o emfarwfer o9 o Hewaqol &
T ST T A9, SR SRAT-uE ufern B SUREIES 3 S & W ¥ Wi g, Yo S % e
T TITH T Fehell AT | .98 TAT g7 foh I & S % TowIST ol 07, TRER T Al AT bt
3T & I3 W Taweniud €1 37 HeTcHT e i IRRd S g & T HYHR W AREd=1 STehH0T 7
T T THARY H 3HP TR 5 FHEIRT oRa= i IR T o1 | 30 SRoT e, f&s, e, oot
et qom 3¢ | Hewaqul oRae W ST | TS Sheet THRTRT STereT AUl GiEE 31U STUH Wifecd i
TEFT USH el T | 37 STUSIST & SWId Wi ST ScH1e e STeqeet b1 i 51 @I af T2
TATHIOT TR 3T foehr | ST g3T | Hel Tifecd o1 3Ted Haal & Wotdierd &l s@erst |
g‘@faﬁg\m% | 3TTST ST YR Tieed Tect o TieT 319 RamT, faar ue fafasdn 4 el 1w 99

|

TR % AR U¥ fferiad oot (7 9 12) IS

7. U9 TS 1 9RAE Hiiecd U 9T UHIE UL o7 2
(1) ST BT T &1 UeT T | (2) =& &0 & foreeg STTShINT =T fea o |
(3) T Wiea A w e fgaren | (4) o uivEHt 3T @ et gmelE fTa |

8. 31U iy WeniY (C=He) H Y 7 fehgeht tfvyeafert &l 2
(1) g9 9 & gme fearer | (2) ufvad 3fan @ aFaE-faataar s o @t |
(3) Tl H UM U AT TR Bl | (4) <9 H! ik Bl Wi U |

9., WeTs % U YRAT Sigsiieat sl 1 9 off 2
(1) 9 & AT & B % Ui e & |
(2) O SO AT AR F I H & |
(3) SR ATET e F YT i Seer &3 |
(4) BN O % SE-AET % Ui W ST |

10. 9RAE Hifec § GoHHE o1l i Tiled H- et HRE Sl Ted Hifs |
(1) 3T & Rl BT A STTaeT | (2) 3T T T ARy |
(3) TOIISH worEET ST i IA0T | (4) T w6l s |

11.  HYHER TAT ITARST I TGS T ST TH1E =7 & 2
(1) T T T IR (2) wfagFEar & R
(3) IFH GAA (4) T qAFETT
12, T TTRIRT S e (TST) T8 2
(1) 3R 3avarel il & |
(2) WE-SFEEnsT | HE™ Wifeed 1 3R BT ¢ |
(3) YR WiEeT T g fafere uRewa T/ e |

(4)  FF IR WA H iiecd H Hig A-1-3T 6 & |
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13. Effective communication pre-supposes
(1) Non-alignment (2) Domination

(3) Passivity (4)  Understanding

14. When verbal and non-verbal messages are contradictory, it is said that most people believe

in
(1) indeterminate messages (2) verbal messages
(3) non-verbal messages (4) aggressive messages

15. The typical feature of an information-rich classroom lecture is in the nature of being
(1) Sedentary (2) Staggered
(3) Factual (4) Sectoral

16. Expressive communication is driven by
(1) Passive aggression
(2) Encoder’s personality characteristics
(3) External clues

(4) Encoder-decoder contract

17. Positive classroom communication leads to
(1) Coercion (2) Submission

(3) Confrontation (4) Persuasion

18. Classroom communication is the basis of
(1)  Social identity
(2) External inanities
(3) Biased passivity
(4) Group aggression

W-00 6
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13. g U0 A Y § I | STl &

(1) de&ar (2) W=
(3) e 4) =

14. 9 Wifige q91 FAHIRgS <9 WER-TGR €, O 9 el Sal & T SATehisr o favend i &
(1) 3aa g3 ° (2) Tifgs g
(3) emifEs e g (4) IWHWH

15. Tt oAt 95 R AR i G [T 9eh 6 Ui o & H &idl § 2
(1) TiRfed (2) HaRd

(3) AR (4) derAs

16. TEETgE TUOT ohEer §RT URA BT § 2
(1) SSTE SUat
(2) F AEH (TTHIEI) & SATHI I [TEATE
(3) ey Tebd

(4) FE TEH-HTIARSE (SHIET) Y

17. GRS Hell GUYOT S G Feiferd | & o atar & 2
(1) TeTe/3mEdeT () FEgo
(3) AHAT-EEAT “4) 3

18. R HUOT feheRT 3MER & 2
(1) WIS TEa &
(2) T RS W
(3) TSI
(4)  WHfes I
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19.

20.

21.

22,

23.

24.

25.

W-00

The missing term in the series 1, 4, 27, 16, ?, 36, 343, ...

(1 30 2) 49
3) 125 “4) 81

The next term in the following series
YEB, WFD, UHG, SKI, _? will be
(1) TLO (2) QOL
3) QLO 4) GQP

is

If AiscodedasC,MasI, NasP,SasO,Ias A,PasN,Eas M, O as E and C as S, then

the code of COMPANIES will be

(1)  SPEINMOAC (2) NCPSEIOMA
(3) SMOPIEACN 4) SEINCPAMO

Among the following, identify the continuous type of data :

(1) Number of languages a person speaks
(2) Number of children in a household
(3) Population of cities

(4) Weight of students in a class

Ali buys a glass, a pencil box and a cup and pays T 21 to the shopkeeper. Rakesh buys a
cup, two pencil boxes and a glass and pays ¥ 28 to the shopkeeper. Preeti buys two
glasses, a cup and two pencil boxes and pays I 35 to the shopkeeper. The cost of 10 cups

will be

(1) %40
2) %60
(3) %80
4 T70

Out of four cities given below three are alike in some manner while the fourth one is

different. Identify the odd one
(1) Lucknow

(2) Rishikesh

(3) Allahabad

(4) Patna

Given below are some characteristics of reasoning. Select the code that states a

characteristic which is not of deductive reasoning :

(1) The conclusion must be based on observation and experiment.
(2) The conclusion should be supported by the premise/premises.
(3) The conclusion must follow from the premise/premises necessarily.

(4) The argument may be valid or invalid.

8
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19. @l 1, 4,27, 16, ?,36,343, ... BTG UG &
(1) 30 (2) 49
(3) 125 4) 81

20. %@ YEB, WED, UHG, SKI, ? ¥ 3TTell Ug i
(1) TLO (2) QOL
(3) QLO 4) GQP

21, AICAFFCEMBIENHPE SHOSE AL PHNLTEFME OFET
3T C &1 S &, @ COMPANIES 1 &< &I
(1) SPEINMOAC (2) NCPSEIOMA
(3) SMOPIEACN (4) SEINCPAMO

22. TATAREd H & Fad YR & Slel & TedH e
(1) U AR gRT el ST Heb aTelt STuTet i G
(2) UHERH T Bl HEA
(3) R A ST
(4) U FR BT H AT

23. el 4 UH §HFSR W T 21 H UH T, U UGeT S 3 Ueh Y TAST | b9 F JHAGR
T 28 H Us &Y, TN UMl S 3 T oI GRIET | Wifd = 3R | T 35 ° 3 T, U Y
31T JF Ufget S @RI | 10 T T Jod g
(1) %40
2) 60
(3) %80
4 X770

24, 9 fGU T SR R H 9 dF9 B9 T R 9 9 uhEEe ¢, Safe =R 6T 3’ € | S8
Tg i |

(1) &S
(2) HuhS
(3) TOEER
(4) U

25. 9 d% D $S YA S S & | FTEIThT H T 3T H BT I B A AT T Bl TR
qﬁaﬂ'ﬁ%
(1) TToh Diaror e 9T o) ST g =Ry |
(2) TTohd myR-aEE/ATEET R THEd BT =T |
(3) T=pd IHaEa: SUR-aTRy/aERT ¥ FeherT Ay |
(4) T oY IS Y & HHAT ¢ |
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26. If two standard form categorical propositions with the same subject and predicate are
related in such a manner that if one is undetermined the other must be undetermined, what
is their relation ?

(1) Contrary (2) Subcontrary
(3) Contradictory (4) Sub-altern

27. Men and woman may have different reproductive strategies but neither can be considered
inferior or superior to the other, any more than a bird’s wings can be considered superior
or inferior to a fish’s fins. What type of argument it is ?

(1) Biological (2) Physiological
(3) Analogical (4) Hypothetical

28. Among the following propositions two are related in such a way that they cannot both be
true but can both be false. Select the code that states those two propositions.

Propositions :

(a) Every student is attentive.

(b) Some students are attentive.

(c) Students are never attentive.

(d) Some students are not attentive.

Codes :
()  (a) and (b) (2) (a)and (c)
(3) (b)and (¢) 4) (c)and (d)

29. Given below are two premises ((a) and (b)). From those two premises four conclusions (i),
(i1), (ii1) & (iv) are drawn. Select the code that states the conclusions validly drawn from
the premises (taking singly or jointly.)

Premises : (a) Untouchability is a curse.
(b) All hot pans are untouchable.
Conclusions : (i) All hot pans are curse.
(i1)) Some untouchable things are hot pans.
(iii)) All curses are untouchability.
(iv) Some curses are untouchability.

Codes :
(1) (i) and (ii) (2) (ii) and (iii)
(3) (iii) and (iv) (4) (i) and (iv)

30. If the statement ‘None but the brave wins the race’ is false which of the following
statements can be claimed to be true ?

Select the correct code :

(1)  All brave persons win the race.

(2) Some persons who win the race are not brave.
(3) Some persons who win the race are brave.

(4) No person who wins the race is brave.

W-00 10
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26. I THH ST a1 9T & I W FRUeT Toh-aTe 39 Uk Hetdd ¢ foh 3R Ueh SA-eiia edr
&, ot g ot erfeifea g, o ST Gey T FHeeATd € 2
(1) 3™ (2) AT
(3) IrdtaRId (4) o

27. HfeceT qA1 TOUT S USHATHS haTar SToRT-STenT & Wehdl ©, oifch [l bl of 3T & ATiet
1Y ST ST S el HHT ST Thall &, IHT e o9 UhR TRt wedt & v st Hiwved &
HTUeT SePpte ST U T&l WA ST Gohell € | € T TR ol b & 2
(1) <t (2) IR Ga
(3) HGRIRH (4) IR

28. fAifha aehaTeRl B 31 39 WhR Haitud € b of I @l el &1 Wehdl &, fohd o IHT ot & Fehdd
T | 39 % 1 =TI HY I 37 3 AHATHN B FA § |
T AT
(a) U B SR BT € |
(b) FS A M eI ¢ |
(c) B F off eifer el Bl & |
(d) T B A T Ed € |

w :
() () 3R (b) (2) () FR (c)
(3)  (b) I (c) @) (c) 3R ()

29, 9 T dehaT (a 3R b) RU W E | 37 <A1 dekarEl @ =R MR (i), (i), (iii) 3T (iv) Feee
TTE | 3T FS BT T HY ST qhaTHl I (Thel TaT T €9 F) = (et ot e & |
qABAET ;. (a) STEYA UH AT T |

(b) T TH AT YT ¥ |
=y () T T SR ey § |
(i) T YT dIst T A € |
(iii) Tt AT SRYYIT § |
(iv) T AT YT ¥ |

E
() (@) R Gi) (2) (i) #R (i)
(3)  (iii) 3 (iv) 4) (i) 3R ({Qv)
30. I FF 3R HIE & die IR Al & g | foreralt i & Terd €, ot Feiehd § J R e
I GEl /AT ST Fehell & 2
TEl e B T B |

(1) wfiaR A I a8 € |

(2) <re ¥ ool gF ool F st 3R T e €
(3) T Al o g | o i €, aR e § |
(4) s ¥ oot B9 ATl s st &} el el & |
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The table below embodies data on the sales revenue (¥ in lakh) generated by a
publishing house during the years 2012-15 while selling books, magazines and
journals as three categories of items. Answer questions 31 — 33 based on the data

contained in the table.

Sales Revenue (% in lakh)
Year—
2012 2013 2014 2015
Items |
g
f
Journals 46 47 45 44 ;
Magazines 31 39 46 51 f .
Books 73 77 78 78
Total i f
&

31. In 2015, approximately what percent of total revenue came from books ?

(1) 45%
2) 55%
3) 35%
4 25%

32. The number of years in which there was an increase in revenue from at least two

categories of items, is

(1) 0
2 1
3 2
4 3

33. [If the year 2016 were to show the same growth in terms of total sales revenue as the year

2015 over the year 2014, then the revenue in the year 2016 must be approximately :
(1) 194 lakh
(2) R 187 lakh
(3) %172 lakh
(4) % 177 lakh
W-00 12
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e € 1 et § a9 2012-15 % SR fRE YToT HUH FRT YEAshi, Uttt qur et
=1 fagnl 1 A St § faeel Tore (e BT o) wad sitws fre e § ) arfeer | o
et & MR W UTT 31 ¥ 33 H I |

g — forml T (@@ uw)

I 7T 2012 2013 2014 2015
SR 46 47 45 44
RIEED] 31 39 46 51
TETH 73 77 78 78

P g

31. =9 2015 | GEAHT i oI5kl T ot ST ST fohc=T HfTere ST UTed g 2

ey
2
3)
“4)

45%
55%
35%
25%

32. oo+ i W 9 ¥ & 31 TS1 S A0 T ° gy g 2

ey
2)
3)
“)

0
1
2
3

33. AT ad 2016 & IR FoT fsht T H AT 99 2014 T oM § 99 2015 H g8 Iheg & TE
Jheg BT &, o I 2016 & IR I H Jleg ST T BT TTeT 2

ey
2)
3)
“)
W-00

% 194 i@
% 187 i@
3172 -i@
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A University professor maintains data on MCA students tabulated by performance
and gender of the students. The data is kept on a computer hard disk, but accidently
some of it is lost because of a computer virus. Only the following could be

recovered :
Number of MCA Students
erformance
- Average | Good | Excellent | Total

Gender |

Male 10

Female 32 o

Total 30 y

Panic buttons were pressed but to no avail. An expert committee was formed, which
decided that the following facts were self evident :

(a) Half the students were either excellent or good.

(b) 40% of the students were females.

(c)  One-third of the male students were average.

Answer questions 34 — 36 based on the data given above :
34. How many female students are excellent ?

(H O 2) 8
(3) 16 “4) 32
35. What proportion of female students are good ?
(y 0 (2) 025
(3) 0.50 4) 0.75
36. Approximately, what proportion of good students are male ?
(1) 0 2) 0.73
(3) 043 4) 027

37. Which of the following statement(s) is/are TRUE ?
S1 : The decimal number 11 is larger than the hexadecimal number 11.
S2 : In the binary number 1110.101, the fractional part has the decimal value as 0.625.
(1) SI only (2) S2only
(3) Both S1 and S2 (4) Neither S1 nor S2

38. Read the following two statements :
I: Information and Communication Technology (ICT) is considered a subset of
Information Technology (IT).
II: The ‘right to use’ a piece of software is termed as copyright.
Which of the above statement(s) is/are CORRECT ?
(1) BothIandII (2) Neither I nor II
(3) Ionly (4) Tonly

39. Which of the following correctly lists computer memory types from highest to lowest
speed ?
(1) Secondary Storage; Main Memory (RAM); Cache Memory; CPU Registers
(2) CPU Registers; Cache Memory; Secondary Storage; Main Memory (RAM)
(3) CPU Registers; Cache Memory; Main Memory (RAM); Secondary Storage
(4) Cache Memory; CPU Registers; Main Memory (RAM); Secondary Storage

W-00 14
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et farvafaenea & M$ET §RT THALT B & Gag | ATHST ST & Ue9i ot form &
FTAR AAHTHA AT T T | AT H A & oE feww # @ mn €, Afe warmEw
FHILY AT & HRUT T H(he T T T | haet (=ifehe Arhe wfvrisre fry o o

THH.T BT 6l ST
eI —
dew | I | IFE | FA
el
B 10
Afgel 32 .
FA 30 &

Uk ST St FaTET T, TR SHRT IS O FTEl e | Ush fawist WAt 1 e fohar e, e
g (o foran Tor 3 F=ifena e o ameg &
(a) 7Y BE AT AN SFHE AT ITH I |
(b)  40% B HigeTd i |
(c) ToU BEI § Uh-[dele Sad &R & & |
T T T 2ihe o MUR W U9 34 ¥ 36 H ST |
34. THeHT AfeeT SN 3P € 2

(I o 2) 8

3) 16 4) 32
35. HfecT ST T ThaT U 39§ 2

(1) 0 ) 0.25

(3) 0.50 4 0.75
36. STH ST BN AT ST ST o9 € 2

(1 o 2) 0.73

(3) 043 4) 0.27

37. Trefofaa § S 9U/d %o w6 8 2
S1 : TYHeTS G 11 Wiy G 11 § 98 & |
S2 : fgemum T 1110.101 % 3TiT91eR 9T 1 SIHAS A 0.625 € |
(1) @as Sl (2) HaAAS2
(3) SI1aars?2 (4) TESI,TES2

38. THAfciEd HT T TS
[: 9o Ud SOR UenfiTen! (STEHr2r) S gaaT Weihmeht (3ME.21) T Suggead JHT ST € |
I1: WRSR & 6 & % STA-HR’ Sl hiul-TEe (TSR TR Fal S ¢ |
IUIERT HAT H W I H TEr e/ &2
(1) A1 (2) ATLIEN
(3) FHEAAI (4) el

39. T=fafEd § @ i 91 HeX G0 THRI § ¥ ITaq9 @ A9 T (W) T Geieg el § 2
(1) Thed RS, B9 HORT (TRTUR,), B9 HHR, Ty, Aoy
(2) diUNg, ey, FI AUR, Fhed RS, B 99R (IRTT,)
(3) AUy, A, H AARY, B AERT (ST, Wbl WSl
(4) Y TERY, WAL, IR, A9 BERT (IR T, ); Tehedl @RS
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40. Which of the following is a characteristic of Web2.0 applications ?
(1)  Multiple users schedule their time to use Web2.0 applications one by one.

(2) Web2.0 applications are focused on the ability for people to collaborate and share
information online.

(3) Web2.0 applications provide users with content rather than facilitating users to
create it.

(4) Web2.0 applications use only static pages.

41. With regard to a word processing software, the process of combining static information in
a publication together with variable information in a data source to create one merged
publication is called

(1) Electronic mail (2) Data sourcing

(3) Mail merge (4) Spam mail

42. DVD technology uses an optical media to store the digital data. DVD is an acronym for
(1) Digital Vector Disc (2) Digital Volume Disc
(3) Digital Versatile Disc (4) Digital Visualization Disc

43. Assertion (A) : Sustainable development is critical to well being of human society.

Reason (R) : Environmentally sound policies do not harm the environment or deplete
the natural resources.

Choose the correct code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.

(4) (A)is false and (R) is true.

44. The dominant source of pollution due to oxides of nitrogen (NOy) in urban areas is

(1) road transport (2) commercial sector

(3) energy use in industry (4) power plants

45. Which of the following is not a water-brone disease ?

(1) Typhoid (2) Hepatitis
(3) Cholera (4) Dengue
W-00 16
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40.

41.

42.

43.

44.

45.

fefetEd & | de 2.0 STIHERT i DI T Foreioar € 2
(1) gﬁ%aﬁw@ﬁé&z.o%a@v%ﬁwww%wmwﬁaﬁa
|
(2) 3T 2.0 T SFAN AN & STH H AR eI ol FH SEH-USH HA Bl Gl T
A B & |
(3) AT 2.0 FHT SFHART [T9T YT FHRAAT & 7 fob ST T % [T YR eI & |
(4) 2.0 STTIENT el STURTIAT Yt BT ST HAT € |

IS TG WiHeeRR & WeY H, U GHIed UhRM a9 &g Sl id H uRad Yo o are
TITH | SIS GE1eT & WIS o WehH i STHAT ST &

(1) zorRI® ool (2) = |irE
(3) HA A (4) 9T

ALE’ urEnftnr 7 fefses grer & Werur & fou siifteswa Mifear w1 sugi fear smr €
Sl gt e o € 2

(1) TeSeat o ek (2) fefstea aegn fewn

oo

(3) Teioreat aderea fewn 4) fefStea fasperemesem fewn

AMMHAT (A) : T [T TG FHS 6 FHed0T & ol Hewaqul € |

& (R) : TATERONS ST | Hel Afd JATeRoT i &1fd el Ugand & 3T WIehicsh SaTeH
T &IROT F&T Bt & |

TEl e HT T B

(1) (A) 3R (R) I Tl & 3R (R), (A) T Tl WL |

(2) (A) 3T (R) AT W&t &, ABT (R), (A) T T&t TEHT Tel ¢ |
(3) (A) T @ (R) ToId & |

@) (A)ToE a9 (R) Wl € |

YR & | ATEge SteEed (NOy) % 0T UguvT 1 Td i &

(1) GgF glee (2) anoreae &
(3) M UgeRT ol (4) U wie
ffeiad § ¥ STot SIa-37 et & 2

(1) TEHES (2) eucTEfed
(3) &m @) <1
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46.

47.

48.

49.

50.

Indian government’s target for power production from small hydro projects by the year

2022 is
(1) 1 Giga-Watt (2) 5 Giga-Watt
(3) 10 Giga-Watt (4) 15 Giga-Watt

In which country, the recent international agreement on phasing out Hydro Fluoro

Carbons (HFCs) was signed ?
(1) Rwanda (2) Morocco
(3) South Africa (4) Algeria

Which of the following natural hazards is not hydro-meteorological ?
(1) Snow avalanche (2) Sea erosion

(3) Tropical cyclone (4) Tsunami

Which of the following are the demerits of globalisation of higher education ?
(a) Exposure to global curriculum

(b) Promotion of elitism in education

(c) Commodification of higher education

(d) Increase in the cost of education

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (a),(c)and (d)
(3) (b),(c) and (d) 4) (a), (b), (c) and (d)

Which of the following statements are correct about deemed universities ?
(a) The Governor of the State is the chancellor of deemed universities.
(b) They can design their own syllabus and course work.

(c) They can frame their own guidelines regarding admission and fees.
(d) They can grant degrees.

Select the correct answer from the codes given below :

Codes :

() (a), (b) and (¢) (2) (b),(c) and (d)

(3) (a),(c)and (d) 4) (a), (b), (c) and (d)
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46. A GIHR H 7Y STA-fd TRATSTIST F 99 2022 Teh TeR SATEH BT A &
(1) 1 TimEre (2) 5 TimEe
(3) 10 TATETE (4) 15 TATETE
47. 5T 39 H ot & ° eeel TRl Hed (HFCs) & @X0es diih § T i Gael AR
FIR W AR R T 2
(1) e (2) TREER
(3) ST TR (4) 3OSt
48. fAfeIREd WHfae SMURTST § § A O gegl-HaHT el ¢ 2
(1) fem w@em (2) TSI e
(3) SOTHET Tshard (4) g
49. = To1eT % AvEeRROT & TAfeIREd | 9 HiF-BF T ST § 2
(a) o UreashAl o WY TEEERET (b)) TN H TS ot agren
(c) ToreT &1 aregeReoT (d) TereT = T | et
=AiTeha el § | Tel & 999 I IW S
FT :
(1) (a)T=1 (d) (2) (a),(c) &M (d)
(3) (b), (c)TAT(d) %) (@), (b), (c) T (d)
50. FefeREd | 9 Sre [avataere™ & [9ug § & 91 29 el ¢ 92
(a) T F oAU S fovaiaenetal o Hettaid & € |
(b) o 3TUAT UISTHH AT TISF-AT T el & |
(c) o SIfEelr ae 3ok & faug § o1 fen-fser o weha € 1
(d) o 3uIY UEH X T € |
U T Fi § T TEl I FH TIT B
&<
(1) (a), (b) T () (2) (b), (c) TAT(d)
(3) (a),(c)T(d) “4)  (a), (b), (c) T (d)
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51. The purpose of value education is best served by focussing on
(1)  Cultural practices prevailing in the society.
(2) Norms of conduct laid down by a social group.
(3) Concern for human values.

(4) Religious and moral practices and instructions.

52.  Which of the following statements are correct ?

(a) Rajya Sabha is a permanent House which can be dissolved only during national
emergency.

(b) Rajya Sabha does not represent the local interests of the States.

(c) Members of the Rajya Sabha are not bound to vote at the dictates of the states they
represent.

(d) No Union territory has a representative in the Rajya Sabha.

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (b)and (c)
(3) (b),(c) and (d) 4) (a), (b), (c) and (d)

53. Which of the following are not necessarily the immediate consequences of the
proclamation of the President’s Rule in a State ?

(a) Dissolution of the State Assembly.

(b) Removal of the Council of Ministers in the State.

(c) Takeover of the State administration by the Union Government.
(d) Appointment of a new Chief Secretary.

Select the correct answer from the codes given below :

Codes :
() (a)and (d) (2) (a), (b) and (c)
(3) (a), (b), (c) and (d) (4) (b)and (c)

54. Instead of holding the office during the pleasure of the President who among the following
hold(s) office during good behaviour ?

(a) Governor of a State (b) Attorney General of India
(c)  Judges of the High Court (d) Administrator of a Union Territory
Select the correct answer from the codes given below :
Codes :
(1) (a) only (2)  (c) only
(3) (a)and(c) 4 (@), (b), (c) and (d)
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51. Yoo-fonet o1 3299 Fithd §  oh TR Hehisd Y 3781 oRE © URT ToRAT ST HehaT § 2
(1) ISt § AT Fihids wenst 9
(2) Tt TTIfeTe T gRT FEiRa STreRor o A 9
(3) AHEE-gE % Ufd o
(4) wnfHes o Afde STeeR JdT SRy 9

52. foefefaa & @ &9 QU o 98 88 2
(a) T G9 Uh T Fe &, 5 ohelet U9 SAI1a-h1er o SR &1 T fohar S Wehell € |
(b) T T 4T & T Tt o1 wfafraea &l e € |
(c) T T h TS I WATeed e dTel et o 9 o SFER HAGH e STehR! el & |
(d) T T H fRdl o FEET & T Ui e ¥ |

fAfeiad el | | Wl IRl 997 &Y

%

(1) (a7 (d) (2)  (b)TAT(c)

(3)  (b), (c) T (d) @) (@), (b), (c) T (d)

53. foRdl g | egufa A S ST o gk fFeEfefad § @ SF 9 dasiterss €9/ Siar
Tel glar € 2
(a) T TauM-|T o 97 foRal ST |
(b) T H HEHEE Sl AR {5 ST |
(c) TS URIME i by TIHR FRT 310 =001 H & |
(d) T =7 Qiaa Ft gt FET |

frfetEa i # | Tel 3T H 97 Y

%

(1) (2) @ (d) (2) (), (b) T (c)
(3) (a), (b), (c) T (d) 4) (b)TE(c)

54, U % UEIR-TET IR Te0T A % o, FEteiEd B @ i Gg3 eI Ug W el § 2

(a) T % ToAUTA (b) YRA % WEFAEERT
(c) ST AT & AT (d) TG & T IRIHE
TeAiTeRd el & HEl ST 1 T
ETE
(1) = (a) (2 FFA (c)
(3) (a)T(c) @ (a), (b), (c)TAT(d)
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55. Which of the following set of statements represents acceptable propositions in respect of
teaching-learning relationships ? Choose the correct code to indicate your answer.
(i)  When students fail in a test, it is the teacher who fails.
(1) Every teaching must aim at ensuring learning.
(iii)) There can be teaching without learning taking place.
(iv) There can be no learning without teaching.
(v) A teacher teaches but learns also.
(vi) Real learning implies rote learning.

Codes :
(1) (i), (iii), (iv) and (v) (2) (1), (i), (iii) and (v)
(3) (i), (iv), (v) and (vi) @) (1), (i), (v) and (vi)

56. Assertion (A) : Learning is a life long process.
Reason (R) : Learning to be useful must be linked with life processes.
Choose the correct answer from the following code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

57. Effectiveness of teaching has to be judged in terms of
(1) Course coverage
(2) Students’ interest
(3) Learning outcomes of students
(4) Use of teaching aids in the classroom

58. In which teaching method learner’s participation is made optimal and proactive ?
(1) Discussion method (2) Buzz session method
(3) Brainstorming session method (4) Project method

59. One of the most powerful factors affecting teaching effectiveness is related to the
(1)  Social system of the country (2) Economic status of the society
(3) Prevailing political system (4) Educational system

60. Assertion (A) : Formative evaluation tends to accelerate the pace of learning.
Reason (R) : As against summative evaluation, formative evaluation is highly
reliable.
Choose the correct answer from the following code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
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55. foreror-etie Teui % dy O fAifehd el % Ueag O B QT W FH ¢ 2 ST ST
TU o oTT W&l e 1 =Fa7 L |
() 9 D fHEr weT o % B €, A 9 fo1eTeh & ST STt B § |
(i) T ToreToT 1 SR STy GRATYEd R el € |
(iii) 2T % fomm freror &t AT € |
(iv) Tereror & fomm g 1R & €1 T § |
(v) e foreren femeror e &, fobg o St o 7
(vi) arEdferes e 1 AR e fehar ST ol S € |
TN
(1) (i), (ii), (v) 3R (v) 2) (), (i), (ii) & (v)
(3) (i), (iv), (v) &R (vi) @) (), (i), (v) 3R (vi)

56. ATMHAT (A) : AR TH So--03= UiHAT § |
& (R) ;ST o SUAI e o foTT 59 e WshHT | SeT S =i |
T 15T 7T e ¥ HEl IR H FIT L
(1) (A) 3R (R) I el € 3R (R), (A) Hl Tel AT E |
(2) (A) 3R (R) I Tel &, g (R), (A) T Tl = =& ¢ |
(3) (A)TEE, fhq (R) T € |
4) (A) T &, T (R) @&t € |
57. 31101 ) uoEreRIar o o FEifed § | feg w9 5 fohan s e 2
(1) ToIva-a%] o DR & R )
(2) BEl H AT F SER T
(3) BTl & AT UROMHT o YR T
(4) R Y fRTeT0T HeTdeh TR % SUSART % SMER U7

58. freifera 9 @ forer foreror fafy o foramell =6t WriieRl At I2ad o1 TEetehl SH@T ST & 2

(1) uftearet =i fafy o (2) Jhwd ardr ¥ @i faty &
(3) foamaw o #f fata | (4) RS fafy §

59, 318701 TTEERIET Bt T S Aol Ueh Talitees Ifeeiet! shRe (el Hefdd & 2
(1) S AT FeeT & (2) TENS H et et @
(3) T T a9 (4) SreatoTe e 9

60. IIUHAT (A) : FHTOTCHS G ST &t T Sl @ 6T € |
% (R) : ehoHTcHS Jodich i o | HeToTeqes Jodish 21t favaa-ia & |
T 13T 7T e ¥ WEl IR B TIT L

(1)  (A) 3R (R) I Tl & 3R (R), (A) H T&l A@TE |
(2) (A) 3R (R) I Tel €, 7 (R), (A) T Tl e & ¢ |
(3) (A)TEE, g (R) T € |

4) (A)Tea g, fRg (R) W& € |
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